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Ol A1
10g102 = a, 10g103 =b

® logyh

10
=logi = logl0—log2=1~log2=1~a

@ logy,600
=10g102:310* =log;2 +logi3 +10g1ol0° =a+b+2

© log0-72
72 3.9
:loglol—oozloglo72_10g10100:10g102 37 —2

=log2’ +1ogy3° —2
=3logi2+2log;3 —2=3a+2b—2

@ log1o3 v 500

1

3 1 1 1000
=1]og,h00* = 510910500 = logy——

1 1
= 3(10&01000_10&02) = 3(3—0)

ol A12
10g36 =a .... 10g3288 =7

= log;23=a 105288 = logs4.72
logs2+1=a =log2™3’
logs2=a—1 =logs2’ +1ogs3”

=5(a—1)+2=5a—3

of| 413
log0.5=a , logd=">b , logT2="

1 .
- 1og5:a ...log2 '=q.. —log2=a

log=b..log3*=b..2log3=b
log72 =10g2*3% =3log2+2log3=3(—a) +b=b—3a

ol A4
logb=2a , logl.5=2b , log24="

=log2+log3=2a 2logd=2a+2b log2=a—b

log%=2b logd=a+b

. log24 =log3+log2’
log3—log2=2b
=log3+3log2
=a+b+3(a—b)=4a—2b

log2+a+b=2a

ol A5
log,12=a 9 log,9="7
l0g,32° =a log.9 = log,3>

logy3 +2logy2=a =2logy3

logm3 =a—2 =2(a—2)=2a—4
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1 1 1
_ — — )= — )=
log(1 3) a, log(l 9) b...log(l 81) ~

2
-10g§=10g2—10g3=a b—2a—log3=a

8
log§=log8*10g9:b logd=b—3a
=3log2—2log3="b

80
log8—1:log80—log81 2log2—2log3 = 2a

=log8+logl0—log3* s log2=b—2a
=1log2®*+1—4log3 =3log2+1—4log3

o 3(b—2a)+1—4(b—3a)=3b—6a+1—4b+12a=6a—b+1
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